
tsp and Le Chatelier Station Review

Station #1

Calculate the K,, for CaCI2 if 2.OOg of CaCI2 is required to saturate 100.0 mL of
solution.
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Station #2

The solubility of SF2 is 2.83 x iO M. Calculate the K5.
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Station #4

a) Write the dissociation equation for silver chloride 1.11 ID
—

b) Predict what will happen if sodium chloride is added to the solution (direction
of shift, and concentration of silver ions)

c) What is the molar solubility of silver chloride in
Water and 0.15 M solution of NaCl
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Station #6

In the following reaction 2RZ5) + 02(g) i 2S() + ZHzOg
What happens to

a) [H20] if 02 is added procecdS LffO 3 1

b) [H2S) if Oz is added prDcerJS i1t cHcD L

c) [Oal if H2S is removed pncecci & COZ ‘7’

d) [H2SJ ifs is added cc* s s a st/u
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Station #7

How would you change the volume of each of the following reactions to increase the
yield of the products?

0 Q I
a) CQCO3(5) Ca0 + C02) ‘1’ V (4
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b) 5(s) + 3F2(g) v (i e)
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c) C12(g) + 12(g) 21C1(g) v r hs ho
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Station #8

Which direction would the following equations shift to if the temperature was
increased?

a) CaO(5) + H20(I) CG(OH)2q) AH:-82k3 eHl1tbm’
1r + I r&f

b) CQCO3(5) ± Ca05 + CO2ig AH 1781c3 eviot,erin’C i-ii44 II111


